_%ﬁkr' L J«'Jﬂm. /

. X - -
4. )= 3351 F(aﬂ:.,sz;;_" é flo)r= 5‘%‘,’ =0, {3(-1)':?,';:7,: ;—lT
6. QU= D gl N =) gm0 g(a)= 9V = A7
3. 3(x)= 4+1x) . (=)= §1a=b. g(0)- y10=1. g(R=442=¢

0, }1/)()-‘ axry  x & h(3)= 3%*t)= /o hio) ==atodvy = ¥
x*r] x> A= =aiDg=R  h(=3)= “A(-3)+¥=/0

4. f)= _iitilﬁa . Domain 15 all real numbers ¢ so Hhat denom £0.
t2-t-afo.
(¢ -2t 1) #0.
Domain IS Al real ¢ ex_g'gp_c" =2, &=/

le. 6= \jax—é Domain s all read x sothat iaside J 7 i3 > 0.
Ax—=b =0
AX Z b
X =3, Domain s all X2 3.

M. Flw)= (qurid? gi{x)= x-5.
f30)) = £(x-5)
= (a(x-s) +10)?
= @x -wt+jo)*
= (2x )t
= 42

3%, F()= 3x+2 . Fnd £(5). ?(ﬁ3=3(i)+é§ = 2+ Qx
A

3
'P(‘}i'): x tdx,



C@Tp_}tr/, Seclion |

M Py Jax-s hfj(x)= VX and hlu)s Su -5, then
3/h(x))=j(3x—s)

= VEIx-y

= £(x),

4g. 'C(5)= g3—3o)¢-? + 4009 #S00.
Cost for first 20 amids 15 Claod= 203- 30(20)% +400(26 ) +5060
= 4500.
Cast of +he Aoth unit & CQo)-COTY = Y500 ~ 19°- 30(19)*  s00(19) + 52O
= 37/,

sa. f)= 3+ *?J n=dred#, fln)= dime. % finisk maze o ath Hrdd.

@) Yheorefical comain s 2l 1 #0.,

b) pr‘amllf‘rx/ denain is all Integers n>o n, sen=0.23 ...

”l@aa‘l'v-ﬂ Numbered rials, 4riaf nomber zem, fractions, don '+
make ange . *

&) on the Hiird el , fime was £3)= 3+ F = Fminvtes.

) notice +hal as n ybs larger, 22 Gehs Smaller | s +ime
deceeasis with each Hrial. The I12+h 4riad s (’anp/é?{?D(
in f02)= 3+ },—; = 4 minvhes, so n1=/2 is The

| first B Fiosh 1a § minvtes or I, |

e) In pqﬁt(cl), we noticed {n) cans;'j%éﬂf% deoreasas
w i each trial . Time Neyer reachres 3 minvks
(a,lwcu,ls 3+ Lsoma%mg ) bt we can %e} as close
as we |[fke o 3m/’nuafﬁbj e’ot@mm*e Emore. trials.




Chagpler], Sestion 2

‘F(X)= .:?)(—[
X-int: (Z’,D)
j-m{'-' (0,"1)

£0x) = Ix

X=int : [0.0)
3-Inf5 (0,0)

4
f(x)=[x1—l ¥ 2 2
' 3 X >R

X-int (‘I.O\) ond (1,0)
L Y-int: (o-])

Flx)= x?*+ax-g (’oambofm)
H—intz Y= oto-g. (0,~8)
x-int: O= x%ax-§

0= (x+4)x-2)

(=9.0) and (2,0)
vertex af x="Yacy = )
I xe=), y= Cy*eacny-g = 77

(-1,-9)

Ofwns up.




Q ﬁgpéc Z ,&&Qan £

0. Find intersetion gouts of Y = xR a/nO/'j: Ax+,
Yoof (Xj) is an infersiebion /,:omé) I+ e 12_0__147 3@/15 and

*
paq. safisties  both p?m!rans, Jo jéx": Ax+A,
X2 = Axtd X2-2Ax-R=0
Use guadratic {brmu/a-' X= ‘?-r—a?‘i-*-—? = %{sziﬁ.
IF x= 1443, 4= 2(1+B) #2 = 4+3V3
£ ox= 1-y3, j:a?//—ﬁ)u = 4-3/3.
Lntersection points: (I+/3, 4+2V3), and (1~V3, 4-2U3).

3R, = x% y = x%+3
C‘-)St(‘dncl 3pr/L, [ooks JV.S7" hike Lirst one ,on{y moved vo Luns.
b_) equL 0# = XZ_ \Y /001’.5 /:1’8 'Flr.s)laﬂ& mavea( (j@fuﬂ;)ﬁ'.

e) f LIQK Fix)+c, j“j jm/o,{ Jooks like Fs graph, r.m\/y
moved w ¢ wits. L 3
3

34, 5:x2'j: 6(-—2)2
a) Ind s First moved forward R vaifs
b) ys (DT Jooks like fist moved back | oart.
o) If CISE P(X-C), 9 looks like £ moved forward ¢ va/¥s.




Chapler), Seetion 3

. =i =(~1)
9 (S, and (2D . m: TF 2320,
4
8. J: Sx+ 2 2
= Y
SloP.¢ m=S / gy > x
5"‘!!1'({'3 (O,ﬂ) y
X~int : (UJ/s', 0)~ "3

9y = +.:.~><—12
J= 3“’3
Jlo[a_l, m= a
y-int: (9,-3)
X—int: (6,0)
A0 (-1,2), m= %3, Y- = 3 (x+))
y=3x+%

4. (07,5)) ,oara//a[fv j’ak/lS . _5.' ‘ X =L,

30. (1,5) and (1,-4)

514 Sty

M= 357 = %5 undefimed. ¥ =)

34. Thm.,;a/\_ (-:"E ]) , p{rf?. to cQX+5\7=3

55: -ixr.?i ovr slope S M= “74? y*}'—' ;;f/x;
= ?X"f'b- j*: 5:[)( +?

fale
L



Chapfer !, Sretion 3.

'%. ¢d§‘g4fdﬂé( + aSS ’a;rmfl/’- .
a)[a,?" X = &m;/fd" —Hym amovnt in a n/? &S
CixY= 35 +t.s5 x

b) ¢(50)= 351 5§ (s0)

= 35 + 2350
=4 435D
c) F73= 35 +.55x
3% = .85x

67a7 = x 6 227 miles, Ge0rpC.

4. At year O, valve s ¢070,000- A+ uear /0. valve is */000,
(0,20000), (10, 1000).

Q) m= ,Do:'g :f)aooo = "'IQ’%‘UO =71900
Y —A0000= ~1900 (x-p ) y valve
Y= "100x + 20000,
0
b) y= =1900( 4 + 20000 P;Z*
= ¥y :
/Ot): 400 mwa_.

c) when JSjro? |
0= ~7900Y +20000
1900x = 20000
X= 10,526 ;ga,ﬁ.f A
(discuss foctors in o’em'o/f/y Ao Self eya//a-)

Sp0




Chagper |, Seedion 3

4, f’bﬁj/ 2lrshs? is metabolized of QA rade. of /D it / hour,

a) / M{lbﬁ?{‘x .ngﬁ x 03 mf@/ﬂalro/x ! hovr
| LoAeF | ol betr omt abbo/

= 3 howg Vo metabolize

b)  Time fo metabolize = Anl afechot x ) hoor = A

| 1omb aleofy /- /O

¢) (discoss) . If pacty Is Y hoors long /hd(j,ét_ 30 oyl
e;f{lj/ Q/{'a/fd/. voold be 2/lmved So 75 /ﬂadféf
meda bpli zed when /mf-r? 5 over (F0m{l cﬁ%
a2lrofst s 1 L#r of beer ) |



